Pilot

OSPF Pilot (Small Org) - Topology Operview, ..

Areas: 0 (Backbone), 10 (Users @R1), 20 (Servers @R2)
Monitoring: Server-Al/Mon(10.0.0.10) + Syslog/DB(10.0.4.11)
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Server-Al/Mon (Zabbix/Prometheus + Python Rule Engine) -

Syslog/DB (rsyslog + PostgreSQL)
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IP-Plan (3

Backbone R1-R2 (Area 0 P2P): 10.10.0.0/30 —
R1=10.10.0.1, R2=10.10.0.2

Loopback: R1=1.1.1.1/32, R2=1.1.1.2/32 (Area 0)

Users VLAN (Area 10): 10.20.10.0/24 — SVI
R1=10.20.10.1

Servers VLAN (Area 20):10.30.10.0/24 — SVI
R2=10.30.10.1

Management/Monitoring: 10.0.0.0/24 — Server-Al/
Mon=10.0.0.10, Syslog/DB=10.0.0.11

Default route: s 5 FW1 4%l Jala ¢ yinl 49 OSPF

Wodla 5 sglaen 5 S siila (512 Rule-Engine)

Zabbix/Prometheus &' » 10.0.0.10 s ICMP/SNMP/
SSH polling

Syslog W 55,5, ¢10.0.0.11 s logging host 10.0.0.11



 Poller (SSH L Netmiko/NAPALM) 4xli 5-2 a:

o show ip ospf neighbor — state, dead timer remaining

o show ip ospf database — ! 3iul headeriss LSA 4uslas
Isdb_hash

o show ip route ospf, show ip ospf — hello/dead/area

« 25, ils (DB/CSV):
ts, router 1d, intf, area, neighbor 1id, state, hello,
dead, Isdb hash, Isa_count, spf runs, cpu, mem,
syslog recent
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